
Comparison of Blocking vs. Non‐blocking MPI send/receive and the number of MPI tasks on a BG/P node 
 
Your results should look something like those below: 
 

1 task/node (smp)  2 tasks/node (dual)  4 tasks/node (vn) 
blocking  non‐blocking  blocking  non‐blocking  blocking  non‐blocking 
375  747  210  375  131  188 

 
Conclusions: 
Non‐blocking performs better than blocking in all cases. 
Adding more tasks per node decreases the per task bandwidth for both blocking and non‐blocking. 
As the tasks per node increase, aggregate bandwidth remains approximately the same for non‐blocking, and 
increases slightly for blocking. 
 
 


